Math 490C
Fall 2008
Quiz 10
1. You are given the following sample of five claims:
100   200   400   800   1500

You want to test the hypothesis that claims are distributed exponentially.  You want complete this test using the Kolmogorov-Smirnov test with a significance level of 5%.   Use the Maximum Likelihood Estimator for θ.  
Calculate the Kolmogorov-Smirnov test statistic.

State the critical value for the test and your conclusion.

2. An insurance policy pays claims up to a limit of 1000.  A random sample of two payments is obtained as follows:  200 and 1000.

The claims are assumed to follow a Pareto distribution with θ = 2500.
Calculate the maximum likelihood estimate for α.

